

Scenario 1	Scenario 2	Scenario 3
$rRF_{\text{LDI-traffic}} = 1.00 \pm 0.00$	$rRF_{\text{LDI-traffic2}} = 1.00 \pm 0.00$	$rRF_{\text{LDI-traffic}} = 1.00 \pm 0.00$
$rRF_{\text{LDI-BB}} = 1.84 \pm 0.06$	$rRF_{\text{LDI-BBeff+LDI-BBineff1}} = 1.26 \pm 0.06$	$rRF_{\text{LDI-BB}} = 5.67 \pm 0.13$
$rRF_{\text{LDI-LMW-OA}} = 0.29 \pm 0.02$	$rRF_{\text{LDI-LMW-OA+LDI-BBineff2}} = 1.67 \pm 0.07$	$rRF_{\text{LDI-LMW-OA}} = 0.30 \pm 0.02$
$rRF_{\text{LDI-bio-OA}} = 0.14 \pm 0.01$	$rRF_{\text{LDI-bio-OA+LDI-traffic1}} = 0.39 \pm 0.02$	$rRF_{\text{LDI-bio-OA}} = 0.65 \pm 0.02$